DIvISION WITH A REMAINDER II (H - SET 1)

brsion Name:
Time: Score: y—
9365 + 10 = 16) 20500 =4 =
2 1974 +10 = 1 11047 + 2 =
35 4832 =~ 5 = 18 63938 — 7 =
HT28 =5 = 1924690 + 8 =
5 984 =8 = 200 16266 + 2 =
6 30200 = 7 = 2 7315+ 10 =
N 78800 + 8 = 22) 2357 + 10 =
9 76778 +9 = ) 843 +5 =
9 35844 =8 = 2 4769 + 5 =
0) 26943 + 7 = %) 13419 +8 =
9270 + 10 = 26) 17382 +4 =
12) 9621 =10 = ) 2483 + 1 =
13) 1159 =5 = 28) 16415 + 2 =
1) 465 = 5 = 29) H8HH2 + 6 =
15 30421 =10 = 300 19995 = 2 =
Mathematics: Division - Level § - Horizontal - Set 1 28 cul
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